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IH H BEEXE

g B BERER
BHos AERETE
BREES 181223018



BHBEERNRE

BHFEERSEL - ERREEHMENBLEREERE
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% # U - Tkt B £ 1 ¢ # 1
BRI 8,327,935
ES B HESH 8,327,935
ES B HESH 8,327,935
ES B HESH 7,983, 480
HIEES 415, 450
1-1 FtE# M 1.00 415, 450 415, 450
2
& - WS 437, 400
1-2 HaHE 1.00 72,900 72,900
g
1-3 hE#RE 4.00 72,900 291, 600
g
1-4 &AER|E 1.00 72,900 72,900
g
AR IRERE 1,555, 500
1-5 HEMUREEE 1.00 1, 555, 500 1,555, 500
2
RBERORBRE (B58) 957, 480
1-6 JREHEO/ERK (KE) 6.00 79,000 474,000
547
17 BHEEOEHR (REHE) 20,000m2/ % 4 7 6.00 80,580 483, 480
547
RERRORBRE (RHEEER 1, 569, 040
18 REREOHR (R@E) 4.00 231,100 924,400
547
1-9 JREHEDER (BMEFHH) 4.00 161, 160 644, 640




BHHEENRE SISEEESBE AR BERR SN LR SRt

£ 5 B - BKTE B H = B ® & wmE
MIiRE 337, 900
1-10 MEIT#REt 1.00 337,900 337, 900
=
EH O 1,246, 450
1-11 T EEHZEEN 1.00 287,900 287, 900
=
1-12 LB EFE T DOEE 1.00 153, 900 153, 900
r—2=
1-13 EIROEBREDORELRE REMHDEE 1.00 335, 950 335, 950
r—2=
1-14 BEHETORE 1.00 412, 450 412, 450
=
1-15 EmEERL 1.00 56, 250 56, 250
L3¢
MBRREOEMBRE (ZhiE) 240, 160
1-16 FREFREDER (K@) 1.00 79, 000 79, 000
a4 7
1-17 HFAREOER (HEFFE) 40, 000m2/ %2 4 7 1.00 161,160 161, 160
a4 7
HEK#EaE DB 690, 050
1-18 HEKHEBED RS 1.00 337,900 337, 900
=
1-19 {(FHEHRHE 1.00 199, 200 199, 200
=
1-20 {FH e % BIVERK 1.00 152, 950 152, 950
=
BE 100, 500
1-21 B& 1.00 100, 500 100, 500
=
BR 433, 550
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% g - KSR B H =2 i & &8 W =

1-22 S|ESEERK 1.00 433, 550 433, 550

=
EERE 344, 455
EHRAMRE 74, 455
1-23 EERARE 1.00 74, 455 74, 455

=
[ 270, 000
1-24 ZBHRRSR 1.00 270, 000 270, 000

=
EZHEE 626, 778
HihAE 626, 778
HiAE 626, 778
HihAE 626, 778
HiAE 217, 566
2-1 {e%5tE 1.00 90, 780 90, 780

=
2-2 fteriElE 0.38 333, 648 126, 786

km

HAE (ZiHhE) 409, 212
2-3 HiwfE 1.00 409, 212 409, 212

=
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% g - AKTiE Bifr = B i & #B
E R 7,983,480 + 344,455 8,327,935
EEAGE 7,983, 480
EEEE 344, 455
T At R i 7,983,480 x 53.85% ( 35% + (1 — 35% ) ) 4,299,103
KHRE 8,327,935 + 4,299,103 12,627,038
—REEES 12,627,038 x 53.85% ( 35% = (1 — 35%) ) — 6,697 6,792, 962
KB 12,627,038 + 6,792, 962 19, 420, 000
EEUER 626,778
ERE 626,778 x 89.0% — 4, 610 553, 222
BIBELE 626, 778 + 553,222 1,180, 000
BB E TS 1,180, 000
BEHIEE 19,420,000 + 1,180, 000 20, 600, 000
HBETEALE 20,600,000 x 10.00% 2,060, 000
EEIZE 22,660, 000
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H5:1-1
B FTEER 1LY
£ 7 R - KT By = B Of | # B &
HEnR
A 1.00 70, 900. 00 70, 900
F{EHED (55
A 1.50 62, 200. 00 93, 300
HEn (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
& B EZBER - 1. 00 415, 450. 00 415, 450
5:1-2
2 . BATHE 1EHY
£ 7 R - KT By = B Of o # B =
HEn (A)
A 0.50 55, 200. 00 27, 600
HEm (B)
A 1.00 45, 300. 00 45, 300
& B {EZ8ER - 1.00mE 72,900. 00 72,900
5:1-3
AF5 . hRRE HEED)
£ 7 R - KT By = B Of o # B =
HEm (A)
A 0.50 55, 200. 00 27, 600
HER (B)
A 1.00 45, 300. 00 45, 300
& B {EZ8ER - 1.00mE 72,900. 00 72,900
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2.1-4
2 RIRBRE H=ER,
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.50 55, 200. 00 27, 600
HEm (B)
A 1.00 45, 300. 00 45, 300
& %82 : 1.00@ 72, 900. 00 72,900
2.1-5
2 FF BRI EE 1RXHY
% 7 R - AR R BAf = B i £ # B =
HEm (A)
A 9.00 55, 200. 00 496, 800
HEn (B)
A 15.00 45, 300. 00 679, 500
Hifrg
A 12.00 31, 600. 00 379, 200
& E%82H : 1.00=% 1, 555, 500. 00 1, 555, 500
2.1-6
& RETREO/ER (RME) 194 74y
% 7 R - AR R BAf = B i £ # B =
Hifrg
A 2.50 31, 600. 00 79, 000
& E2E:H 1.008 147 79, 000. 00 79, 000
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&H5 11
BF  RETREDO/ER (BEFHE) 20,000m2/% A 7 19474y
£ 7 R - KT By = B Of | # B &
HER (B)
A 0.20 45, 300. 00 9,060
A (C)
A 0.50 35, 600. 00 17, 800
Hftt 8
A 1.70 31, 600. 00 53,720
& B TEZEREH :1.0052 47 80, 580. 00 80, 580
&5 :1-8
& BRAEEOMER (K@) 19474y
£ 7 R - KT By = B Of | # B &
HER (B)
A 0.60 45, 300. 00 27,180
A (C)
A 2.00 35, 600. 00 71, 200
Hftt 8
A 4.20 31, 600. 00 132, 720
& B TEZREH :1.0052 47 231, 100. 00 231,100
&5 19
& BRAEEOER (HMEHE) 19474y
£ 7 R - KT By = B Of o # B =
HER (B)
A 0.40 45, 300. 00 18,120
A (C)
A 1.00 35, 600. 00 35, 600
Hftt 8
A 3.40 31, 600. 00 107, 440
& B TEZREH :1.0052 47 161, 160. 00 161, 160
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5 . 1-10
& EIRE XLy
%4 7 R - AR R BAf = B i £ # B &
FAEHED GRED
A 1.50 62, 200. 00 93, 300
HEn (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
A (C)
A 2.00 35, 600. 00 71, 200
& it E%82H : 1.00=% 337, 900. 00 337,900
5. 1-11
B . L EE R BN 1HhEL Y
% E7 R - AR R BAf = B i £ & B =
FAEHED GRED
A 0.50 62, 200. 00 31,100
HEm (A)
A 1.00 55, 200. 00 55, 200
A (C)
A 3.00 35, 600. 00 106, 800
Hifrg
A 3.00 31, 600. 00 94, 800
& YE%8EH : 1.00H 5 287, 900. 00 287,900
5 . 1-12
£ LB IEE T OB 15—2%Y
% 7 R - AR R BAf = B i £ # B =
HEn (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45, 300. 00 45, 300
A (C)
A 1.50 35, 600. 00 53, 400
& it E2EH - 1.005—R 153, 900. 00 153, 900
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5 . 1-13
B BIBOEESRENLRERRE TEMHOBE 15—2%Y
%4 7 R - AR R BAf = B i £ # B &
FAEHED GRED
A 0.50 62, 200. 00 31,100
HEn (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 2.50 45, 300. 00 113, 250
A (C)
A 2.50 35, 600. 00 89, 000
Hifrg
A 1.50 31, 600. 00 47, 400
& E2E:H - 1.005—R 335, 950. 00 335, 950
£S5 . 1-14
B BERTORE XLy
% 7 R - AR R BAf = B i £ # B =
FAEHED GRED
A 1.00 62, 200. 00 62, 200
HEn (A)
A 1.00 55, 200. 00 55, 200
HEn (B)
A 2.50 45, 300. 00 113, 250
A (C)
A 2.00 35, 600. 00 71, 200
Hifr g
A 3.50 31, 600. 00 110, 600
& E%82H : 1.00=% 412, 450. 00 412, 450
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5 . 1-15
& F - REER 1HMEyY
%4 7 R - AR R BAf = B i £ # B &
HEn (B)
A 0.50 45, 300. 00 22, 650
A (C)
A 0.50 35, 600. 00 17, 800
Hifr g
A 0.50 31, 600. 00 15, 800
& fE%8ED ;1. 008 56, 250. 00 56, 250
£ :.1-16
& RETREO/ER (RME) 19474y
%4 7 R - AR R BAf = B i £ # B &
Hifr g
A 2.50 31, 600. 00 79, 000
& E2E:H 1.008 147 79, 000. 00 79, 000
5 . 1-17
B RETREDO/ER (BEFHE) 40,000m2/% A 7 19474y
% 7 R - AR R BAf = B i £ # B =
HEn (B)
A 0.40 45, 300. 00 18,120
A (C)
A 1.00 35, 600. 00 35, 600
Hifr g
A 3.40 31, 600. 00 107, 440
& E2E:H 1.008 147 161, 160. 00 161, 160
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5 . 1-18
275 - Hek#geED et XLy
%4 7 R - AR R BAf = B i & # # B &
FAEHED GRED
A 1.50 62, 200. 00 93, 300
HEn (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
A (C)
A 2.00 35, 600. 00 71, 200
& E%82H : 1.00=% 337, 900. 00 337,900
£:1-19
B ATEERATE XLy
% E7 R - AR R BAf = B i & # & B =
HEn (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 2.00 45, 300. 00 90, 600
A (C)
A 1.50 35, 600. 00 53, 400
& E%82H : 1.00=% 199, 200. 00 199, 200
£ :1-20
B AEHEERE R XLy
% E7 R - AR R Bf = B i & # & B =
HEn (B)
A 1.50 45, 300. 00 67, 950
A (C)
A 1.50 35, 600. 00 53, 400
Hifr g
A 1.00 31, 600. 00 31, 600
& E%82H : 1.00=% 152, 950. 00 152, 950
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&H#5 : 1-21
& g K - BAIKTE B = B @ * & # H %
e (A)
A 1.00 55, 200. 00 55, 200
e (B)
A 1.00 45, 300. 00 45, 300
& it 1EZBER - 1.00 100, 500. 00 100, 500
&H#5 :1-22
B mESER 1X&Y
4 g K - BT B = B @ * & # w %
EXETHE H))
A 1.50 62, 200. 00 93, 300
e (A)
A 2.50 55, 200. 00 138, 000
e (B)
A 2.50 45, 300. 00 113, 250
e (C)
A 2.50 35, 600. 00 89, 000
& it EZBER - 1.00 433, 550. 00 433, 550
5 :1-23
&% FHEARE 1X&Y
4 g K - BT B = B @ * & # w %
EBERAME
= 1.00 74, 455. 00 74, 455
& B EZBER - 1.00= 74, 455. 00 74, 455
HE:1-24
L ES e 1X&Y
4 g K - BT B = B @ * & # w %
EBRRRE
= 1.00 270, 000. 00 270, 000
& it 1EZBER - 1.00 270, 000. 00 270, 000
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H5:2-1
B EEEE 1LY
£ 7 R - KT By = B Of | # B &
BlEFEHED
A 0.60 51, 000. 00 30, 600
B S HER
A 0.90 44, 000. 00 39, 600
B = H AR
A 0.60 34, 300. 00 20, 580
& it EZBER - 1.00= 90, 780. 00 90, 780
55 :2-2
A A= Tkm& Y (1km)
£ 7 R - KT By = B Of | # B &
B S HER
A 2.90 44, 000. 00 127, 600
B = H AR
A 2.90 34, 300. 00 99, 470
BIEBNF
A 1.90 32, 200. 00 61,180
HWEE FHEED
% 2.50 288, 250. 00 7,206
MHEE FHEED
% 3.00 288, 250. 00 8, 647
REETEE FHEHHENEZEED
% 10. 00 295, 456. 00 29, 545
& it 1E%HBEH :1.00km 333, 648. 00 333, 648




WeiES SN EEE L AL TARBERMENBE LR ERSE
H5 :2-3
& WA= 1Ky
2 Lo R - KT By = B ff ol | # %
B2 F E AR
A 0.08 51, 000. 00 4,080
B = AR
A 2.57 44, 000. 00 113, 080
RIS AN
A 4.87 34, 300. 00 167, 041
RIEBF
A 2.29 32,200. 00 73,738
RS FHEED
% 6. 50 357, 939. 00 23, 266
BIEERESE FHEED
% 0.50 357, 939. 00 1,789
MHEE FHEED
% 2.00 357, 939. 00 7,158
REETEE FHEHHENEZEED
% 5.00 381, 205. 00 19, 060
& it 1EZBER - 1.00 409, 212. 00 409, 212
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